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You run Ford Motor Company. » We assume that the firm’s goal is to
» List three different costs you have. maximize profit.

* List three different Profit = Total revenue — Total cost
business decisions ,

that are affected f

b
|

the amount a firm the market value of

by your costs ) : :
receives from the the inputs a firm
sale of its output uses in production

TR =PxQ
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o Bl ANITIF T —ZAERT T, VBRI SK TRy BERITG B EREE, IR SE T
HFEHUAIER, JFREM TN FsIE N, 1EARER & tfﬁﬁ)ﬁ%ZOﬁ%ﬂ:
(1) Rt B B & 1301 3% 7csA b 98, ARAITAE & FH R 5%
(2) BB RFLI0LEITMHE, L% MFERZMRITAE K207 70, AT

bR 9 H

o YU NA (Sunk Cost) « —BERAMIIEH BRI A, —AFA AL
BEG I A, A I R AR A (PO, FLs2 SR SR e Al £ T
)
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o =P AlE =SB - SThlA CRPERRA)

o Lot AE = HEBE WA -2 57 A= BN -2 11 A -FE T A =2 T1HRAE - B2
(KRN

o IEHEANE (L5FAE=0 ) ; BHRNE (L5AE>0 )

o 2 iHANE 5 & 5 A E B ELEL

The equilibrium rent on office space has just
increased by $500/month.

Determine the effects on accounting profit and
economic profit if:

a. you rent your office space

b. you own your office space




o = THANES A GFAHE LU fF -
The rent on office space increases $500/month.

a.You rent your office space.
+ Explicit costs increase $500/month. Accounting
profit & economic profit each fall $500/month.

b.You own your office space.

« Explicit costs do not change, so accounting
profit does not change.

+ Implicit costs increase $500/month (opp. cost
of using your space instead of renting it) so
economic profit falls by $500/month.
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» Farmer Jack grows wheat. L Q
Costof Cost of Total
» He has 5 acres of land (fixed resource). (no. of (bushels
land labor cost
. workers) of wheat)
* He can hire as many workers as he wants.
— The quantity of output produced varies with the 0 0 $1,000 $0  $1,000
number of workers hired 1 1000  $1,000 $2,000 $3,000
Farmer Jack must pay $1000 per month for
the land, regardless of how much wheat he 2 1800  $1,000 $4,000 $5,000
grows. 3 2400 $1,000 $6,000 $7,000
The market wage for a farm worker is $2000 4 2800 $1,000 $8,000 $9,000
per month.
5 3000 $1,000 $10,000 $11,000

+ So Farmer Jack’s costs are related to how
much wheat he produces....
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L

Q

(no. of (bushels Cr:]t dof ﬁggto?f Z{:;l
workers) of wheat)
0 0 $1,000 $0  $1,000
1 1000 $1,000 $2,000 $3,000
2 1800  $1,000 $4,000 $5,000
3 2400 $1,000 $6,000 $7,000
4 2800 $1,000 $8,000 $9,000
5 3000 $1,000 $10,000 $11,000

Quantity of output

3,000 4

2,000 1

1,500 1

25001

0 1 2 3 4 5

Mo. of workers

Total cost

$12,000
$10,000 -
58,000 4
56,000 4
54,000 4

52,000 4

${] T T T
0 1000 2000 3000
Quantity of wheat

TC=VC(EL*W)+FC




O BMEAS . ANBE AL R AL B i 2%

o | Fe v | e
100 0 100

< O Ot B~ W N += O

100
100
100
100
100
100
100

70
120
160
210
280
380
520

170
220
260
310
380
480
620

Costs

$300 7
$700 +
3600 4
3500 +
5400 1
$300 o
$200 o

5100 4

0

~FC
- VC
- TC

01 2 3 45 6 7
Q

TC: WA KRTE, A EJ7HUR
VC: MR SR, 1A EJ7 Rt
FC: FC=TC-VC
TCHIVC L T138 5 56 18 1
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o SEWARAE A AFC(Q) = =
o “FIFAA: AVC(Q) = %C

o MFFA: MC(Q) = AATQC - AAVQC

o R RAERECN C(Q)=40+Q3-12Q2+60Q, A4 F AT AR A pRET . 5t [ 7 Al AR
SR A v NI 5 37 NV v NS 3 ] U 1 NS B A i 5 N i B
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o L L e lure e Lo R
- AVC
0 CLiE ~ AFC
150 - - \{C
1 100 70 170 70 100 70 170
3125 -+
2 100 120 220 50 50 60 110 §
u$1[}[} -
3 100 160 260 40 33.33 53.33 86.67 —
4 100 210 310 50 25 525 775 550 -
5 100 280 380 70 20 56 76 §25 -
ED 1 1 || 1 [} | |
6 100 380 480 100 16.67 63.33 80 L .
7 100 520 620 140 14.29 7429 8857 Q
&=, AFCH, MC. AVCHACH £ H Jeid 5 3 iU, ACHAVCHEK
T
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C) MC

/ e
AVC
arve 1ve) 1

dAVC _d(TVC/Q) _ (dTVC/dQ)o-TVC :l[ - ]=—(SMC—AVC)
do dQ 0 o\Ldo 0 ) 0
dSAC _d(STC/Q) _(dSTC/dQ)0~STC l(dSTC_&J L (smc-s4c)
dQ dQ 0 oldo 0 ) 0
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¢ AVC=TV(C/Q, TVC=w.L

* AVC=w.1/Q=w.(1/AP), BI~FIYn]AZ AT EH R IR LI &=
o IUFREA 5k bR &

¢ MC=ATVC/AQ, ATVC=w AL

¢ MC=w AL /AQ=w. (1/MP), BPil1FRrpATE T2 =W kgkx DL bR &
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o’ ! MC
AVC
0, }
% AP,
0 i L~ 7 O )
| > MP, L Q 0

AVC=w/AP, MC=w/MP, fEwAZLHIZ%M4 T, APFIMPEIEE, AVCAMCIH I ;
APFHIMP#E T, AVCHIMCER, APFIMPA T &5 5, AVCHIMCA T Ak &

DPREATERNE . AWl 28 24E 7= BRI, AP A T aa T i, S B R K
N ETEE R B I 3 1
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Q VC TC AFC AVC ATC MC |

0 $50 n/a n/a n/a
$10

1 10 $10 $60.00 —

i 30 80  —
30

3 16.67 20 667

4 100 150 12.50 3750

5 150 30 —
60

5] 210 260 8.33 35 4333 |
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First, deduce FC =$50 and use FC + VC = TC.

Q VC TC AFC AVC ATC MC ‘
0 | $0 | $50 n/a n/a n/a $10

1 10 60 $50.00 | $10 | $60.00 20

2 30 80 25.00 15 40.00 a0

3 60 10 16.67 20 36.67 A0

4 100 150 12.50 25 37.50 20

9 150 | 200 10.00 30 40.00 60

6 210 | 260 8.33 35 4333




KA A A

o KHH, ANV R X RrA A r= B R EAT I, KM prE A AR
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BB BARRA (=Y RBE)

o K TPHMADAC): LAC=LTC/Q

o KPR EACLMC): LMC=ALTC/AQELMC=dLTC/dQ
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TC, TC, TC,

C) /LTC
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FC,

0
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LTC
LTCIGH 5% 50 A 2 A f 26 . 4% 2
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FC, it EIrie FE, LTCHUR
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Firm can choose To produce less than
from three factory Tﬂ‘:{ﬂ Q,, firm will choose  aAyg
sizes: S, M, L. Cost e size Sinthelong  Total
ATC, " ATC, run. Cost ATC,  ATCa e
Each size has its >
To produce between
own SREATC curve. :
Q, and Qg, firm will . [ RATC
choose size M in the ]
'Thefvnwcarlchange long run.
to a different factory !
size in the long run, Q To produce more 2 24 alg 'Q
but not in the short than Qg, firm will Qs Qs
run. choose size L in the

long run.
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I8 A 1T 28 5 A s A )

In the real world, N . B .
factories come in ATC LACAH. TP A 58 111 35 sl A j 26 1
L EEE G N7, SRR R 2 JAS £
with its own o 25 37

So a typical ‘]E%:‘ LACZ:I%—‘%%E/HHSIZy}jEE
LRATC curve R BAR SHIEL GRRRZ )
looks like this:
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B. Xt

C. AHEHII
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A. XY

B. ANXt
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Economies of scale:

ATC falls as Q
Increases.

ATC

Constant returns to
scale: ATC stays
the same as Q
INcreases.

Diseconomies of ¥ ¥ ¥Q
scale: ATC rnises as
Q) Increases.




o FRR AL i 136 188 AR R A 252 5%

o IR ZS Y. XUSHI A BERIAN REZ T XUSHI = (A= 2 2 5] 1 [
L A5 158 D

o MR M EY K—4, A AEinNF—f% (CEPEZEm A E A
L A5 158

> BRI S I AR SRR 5F,  (H B 55 AN 5 IR i 9 16 148 58 4 o)

100 100 1000
200 200 3000
225 150 3000
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P BEABANE (K)| HF3IHAE (L) | BFFE (Q)
100 100 1000
200 200 3000
995 150 3000

o 100 200 300 L
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o i{ai: R(Q) =P.Q =P(Q).Q (FIEMHESFT/"5)

o FHUedi: AR(Q) =5 ="22=P(Q)

o BRI MR(Q) =50 ="220 +P(Q)

WA 2t AT B A 129 5 7 ) BRI A
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o MG AR, £l 175 =R Hth 287K~ @ | P | TR | AR | MR

AR,MR X
R 1 10 10 10 10
9 10 20 10 10
_ 3 10 30 10 10
R=P.Q
4 10 40 10 10
AR = MR = P 5 10 50 10 10
0




o MBI : AV A TR R 28 4 T 7 i) n-

ARMR R :
R=P(Q).Q 1 10 10 10 10
2 9 18 9 8
3 8 24 8 6
4 7 28 7 4
5 6 30 6 2
6 5 30 5 0
AR = P(Q) 7 4 28 4 2
0 X Q 0 Q
drR _ dP(Q)Q dP(Q) dP(Q) Q 1
MR = = =P =P 1 =P 1+—
@ =g5=—40 =P@+—3570 (Q)( + =0 p(@) @0 +3)
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o A= - B A 1(Q) = R(Q) — C(Q)
o Ml KALFEAF: MR(Q) = MC(Q), MCHETIhIEI B

At any Q with

Costs
MR > MC, AProfit =
it R Q| TR | TC | Profit | MR | MC MB _ MC MC
raises profit. olsol| $5 | _85
$10 | $4 $6
1(10| 9 1 - -
10 | 6 4 P, MR
2120 15 5 s -
At any @ with 3 |30 23 7
MR < MC, 10 | 10 0 Q
reducing @ 4140 33| 7 01121 -2 Q, Q Q
raises profit. 5 (50| 45 5 ] ]
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